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Questionnaire: Process Engineer (PE) 
 

Name  

Used Process Framework  

 

1. Why did you select the particular process framework? 

 

 

 

 

 

2. The used tool and the approach to implement the process were straight forward: 

Disagree Agree 

        

 

3. I got familiar with the tool, quickly, and could easily implement all designed process artifacts. 

Disagree Agree 

        

 

4. Did the selected tool meet all expectations to implement the process? If not, why? 

 

 

 

 

 

5. The selected was suitable to implement the process with minimal overhead: 

Disagree Agree 
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6. I was aware of every decision and its consequences regarding the implementation: 

Disagree Agree 

        

 

7. The process documentation could be created as needed: 

Disagree Agree 

        

 

8. The implementation met all requirements, and I could, basically, implement all process artifacts: 

Disagree Agree 

        

 

9. I could implement all designed roles: 

Disagree Agree 

        

 

10. I could implement all designed artifacts: 

Disagree Agree 

        

 
11. I could implement all designed relationships among roles and artifacts: 

Disagree Agree 

        

 
 

12. I could implement all designed activities: 

Disagree Agree 

        

 
13. IcI could implement the designed overall process according to the specification: 

Disagree Agree 
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14. I could always create an export of the model (in terms of providing a process documentation): 

Disagree Agree 

        

 
15. The used tool was straight forward and I could perform all required tasks for the implementation: 

Disagree Agree 

        

 
16. I was always able to identify and check for consistency issues: 

Disagree Agree 

        

 

17. If you had to implement the designed concepts, again, would you select the same tool, again? Why? 

 

 

 

 

 

 

 

 

18. Which other aspects should have been mentioned in this self-audit? 

 

 

 

 

 

 

 

 

 


